Priklady na procvicovani:

X+y=5 [2;3]
4x—-y =19

3x+y=27 [8;3]
2x—4y =4

X+ 3y =28 [10; 6]
3x+y=236

3X +9y =42 [2,4]
13x + 4y =42

2x—-y=-14 [-5;4]
x+3y=7

+%= [x=05;y =15
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4(x+2)=1-5y
3(y+2)=3-2x
[-3;1]

1,5x+ 0,3y = 9,6
3,2x—-09y =2
[4;12]

Soustavy rovnic

2x +y =23 [7;9]
Ix—-y=-1

Ax +3y =14 [2}
3x—2y=19

X —8y =37 [-3;-5]
6y + 12x = -66

4x + 5y =50 [ 10; 2]
3x+ y= 32

3Xx+5y=76 [12; 8]
2x + 7y =80

§+X:11
2 3

Al [x=12;y=15]

2(a+b)-3(a-b3=
S5(a+b)-7(a=-b)=2
[-19;-3]

3(x+2)=2(y+3)
5(x=2)=3(y-2)
[8;12]
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